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 I = 
120000 ´ 8 ´19

                      100´ 12´ 2

                 = 7600

9)131.25 cq] cq] cq] cq] cq]
50000 cq]bv°v 6 amk-tØ°v 3 3/4 %

\nc-°n¬ ]eni ImWpI
     5000 ´ 15 ´ 6  = 93.25

                 100 ´ 4 ´12
3000 ]n≥h-en-®m¬ _m°n 2000 cq]bv°v 3 3/4%

\nc-°n¬ ]eni ImWpI
               2000 ´ 15 ´ 6 

= 37.5                 100 ´ 4 ´12
               BsI ]eni = 93.75 + 37.5
                               =131.25

10. 5252525252
       a bpsS b%  = b bpsS a%

400 cq] 11% km[m-cW ]en-ibv°v 13 h¿j
tØ°pw AtX XpI 13% km[m-cW ]en-ibv°v
11 h¿j-tØ°pw Xpe-y-am-Wv. AXn-\m¬ ChnsS
12-˛mw h¿jsØ ]eni ImWm≥ 400 cq]bv°v
13% ]eni \nc-°n¬ 1 h¿jsØ ]eni ImWpI

400 ´ 13
                               100 

= 52



1) 4975 cq]4975 cq]4975 cq]4975 cq]4975 cq]

             P   4 h¿jw   5275   3 h¿jw    5500

      3 h¿jsØ ]eni  = 5500 ˛ 5275

                              = 225 cq]

       1 h¿jsØ ]eni = 225/3  = 75 cq]

       4 h¿jsØ ]eni = 75 ´ 4 = 300 cq]

      \nt£-]n® XpI, P  = 5275 ˛-- 300

                              = 4975

2) 1016 cq]1016 cq]1016 cq]1016 cq]1016 cq]

    aq∂v h¿jsØ ]eni = 920 ˛ 800 =120

     Hcp h¿jsØ ]eni = 120/3  = 40

            
]eni \nc-°v, R=

 I ´100

                                                 PN

                                            
=

 40 ´ 100   
= 5%

                                                  800´1

   ]eni \nc°v 4% IqSn h¿≤n-∏n®m¬

        ]pXnb ]eni \nc°v = 5% +4% = 9%

9%  \nc-°n¬ 3 h¿jsØ ]eni

                                  = 800 ´ 3 ´ 9  = 216
                                          100

                            XpI = 800 + 216

                                   = 1016 cq]
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